20.

21.

22%

23.

24,

PART C — (3 x 10 = 30 marks)

Answer any THREE questions each in 500 words.

Describe the Carey Foster bridge. Explain how it
can be used to measure resistance of a wire.
Derive the formula used.

Caifl LmavL it wresens eofleufl. wig erduaunm G
sblillen e saLaw  oeTssL Lwet (Nl ms|
aanLiens  eflendE. SiBHEG UWEUEL  GsHrsms
au(med.

Write a note on Electromagnetic Induction. State
and explain Faraday’s laws and - Lenz law.

Blawr smhg grae Lpd GHUY euenrs. LeUmGL
eflflseT HmD efenwis; sl odlers s :

Describe Frank-Hertz experiment for determining
the critical potentials.

wrmiblene WBleten (s 8 aens STERTLISDESTET
Yyiis-Ganm_av Camsamaranwt efeur.

With neat circuit diagram, explain the action of a
Hartley oscillator.

BGbS SHYILILLSg)La, 20 amicedl
Si@auiwpdluier Qewmur e elerses.

Describe the function of a Full Adder and obtain
expressions for the SUM and the CARRY output.
P (pdanltgufar Geweum e elaifss =i ga.(H &6
whpid BasHDerer Geualui @ Conameienil augmed.
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Time : Three hours

Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer any TEN questions each in 30 words.
State ohm’s law.

@ ellflenwis sam.

Write the principle of potentiometer.
Wenen(pss wrafludern $5516015m 6T (HSIS.
What is meant by Self Induction?

&6 LOlGIGITEMTL 6O GTETMITE) GTEIET?

What is meant by resonant frequency?
@ps5ense| FmCeuer eremmmed ereen?
Define Ionization potential.
Sjweflwunss Weran(pssb — euaruim.

What are X rays?

GTEHG HHTSHET GTETLIENG UITEHE?



10.

11.

12,

13.

What do you know about semiconductor?

@@paLgemerts upd BedT Sidloug) wire?

Define Current gain.

WlenGanm_ L Qu@BésLd auepFwimy.

What is meant by logic gate?

&T&s umuileh eranmmed eTemes?

Distinguish between decimal number system and

binary number system.

BED GTaWT SEOOLIL WHHID @(Herw erer SfeLoLiL

Coupu®ss!-

What do you know about transistor?

g yreadlavi i Lhf BedlT ifleug wimg?

What is a capacitor? State its uses.

et Ceé) eTempimed Granan? SIS LiITHEmaTs gaf.
PART B — (5 x 5 = 25 marks)

Answer any FIVE questions each in 200 words.

Write the principle of a Wheatstone’s bridge and
derive the balancing condition for the bridge.

il avGLren swans sHlar sssaG®S T1ps). Guogyih
Ysaplar swer AFub Hupsmatan aumei.
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©14.

15.

16.

17.

18.

19.

Prove that the r.m.s value of the a.c. is equal to
0.707 times the peak value of a.c.

wrpdlens WerGamiLgder r.m.s wHiurerg eigen
Qumo w9 0.707 wLkiG eranssT(.
Explain Bohr's atom model and write its

drawback.

Gunrit sigmirdfl efersd igen Gampurent arupg.
Discuss the action: of a PN junction diode.

PN g4 eni_Cuimg.en Qawdun e efleurd.

Add 28 and 15 in binary.

Tylg. eraremiley 28wyb 15u1b gal (s,

State and explain Bragg’s law.

Gy eflflanwis s efarss.

Prove that (A +C)AD+AD)+AC+C=A+C and
also show that A+CB=(A+B)(A+C) using

Boolean’s laws.

(A+C)YAD+AD)+ AC+C=A+C LopHmiLD
A+CB=(A+B)(A+C) L0l w6 allfsenarLy
vweru(Hiss Himes.
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